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const createEventHub = () => ({

hub: Object.create(null),

emit(event, data) {
(this.hub[event] || [1).forEach(handler => handler(data));
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on(event, handler) {
if (Ithis.hub[event]) this.hub[event] = [];
this.hub[event].push(handler);
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off(event, handler) {

const i = (this.hub[event] || []).findIndex(h => h === handler);
if (i > -1) this.hub[event].splice(i, 1);
if (this.hub[event].length === 0) delete this.hub[event];
}
};
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const handler = data => console.log(data);
const hub = createEventHub();
let increment = 0O;
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hub.on('message’, handler);

hub.on('message’, () => console.log('Message event fired"));
hub.on('increment’, () => increment++);
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hub.emit('message’, 'hello world’); // logs 'hello world' and 'Message event fired'
hub.emit('message’, { hello: 'world"}); // logs the object and 'Message event fired'
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hub.emit('increment'); // “increment’ variable is now 1

// BGEITIR: MIEIrEEh{ZLE ‘'message’ S4hiEERIIRIE
hub.off('message’, handler);
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